SzRONOK
MENGIRA

1

25

o)

| OPERASI TAM§
T

h————————————d




jawapan yang betul.

é ) é
+ —
| 3
\ . \

é ) é
+ L]
I 5
\ v \

_Q L_Q Q 9O Q Q |

Selesaikan operasi tambah di bawah dan rnckan
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jawapan yang betul.
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Selesaikan operasi tambah di bawah dan rnckan
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jawapan yang betul.
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Selesaikan operasi tambah di bawah dan rnckan
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Selesaikan operasi tambah di bawah dan rnckan
jawapan yang betul.
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Selesaikan operasi tambah di bawah dan rnckan
jawapan yang betul.
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Selesaikan operasi tambah di bawah dan rnckan
jawapan yang betul.
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jawapan yang betul.
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Selesaikan operasi tambah di bawah dan rnckan
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jawapan yang betul.
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Selesaikan operasi tambah di bawah dan rnckan
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jawapan yang betul.

Selesaikan operasi tambah di bawah dan rnckan
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